AMEETAYHL T YRR—ILER

ORX&H: 20145 10A 18H tTHER OfRE%: #38E Y —J B
OHSFIREEZI:  12:00 O H EABRBEEHABERR—VELIE
OBL&# T Fl: OXfz: Hn OfR: A
F—L% 1Q 2Q 3Q 4Q TOTAL LS
BEEFRKRE 13 14 14 48 5 O
EREXZE 0 0 0 0 0 O 5,
BaEA
F—L& 8- B PLAY PLAYER(S) ¥—K TFP PLAYER(S)  BYG/%HNG
Lisfeagead o 1 8:23 run #2155 M 1 #1510f, 2 G
mEFER 2 4:09 FG #1510 2 23 —
BmEFR 2 9:06 run #2155 M 19 #1507, 2 G
EmElR 2 11:48 FG #15f, 2 32
EREFER 3 0:23 KR #1455k 80 #1500, 2 G
Cicfea =t 3 2:03 run #25/NE7 20 #1507, 2 G
BEZER 4 10:53 run #23F 40 #1510f, 2 G
BEER 4 11:30 run #235F 11 #1507, 2 G
F — L £ B FRKFE EREXF
1.97—RMT Y B (5> —/ R —KA]) 18(14— 4— 0) 8(4— 4— 0)
28R - I3 —ET+ 19—9-0 20—6—2
gEv—r | 124vds | 69Vds
3.3 E#H—-ERIVY—F 33 — 305Yds 27 —  62Yds
4 E E#%—-EEY—F 52 — 429Yds 47 — 131Yds
5.5 8l E#%—HEEXvY—F 7 — 53Yds 2 — 10Vds
6.77>7 )L [E] % — F& 2K 1—1 2—-0
7.74—JLEI—)L [E] %% — B 2h 2—-2 0—0
8. 7R — LA A 5 23:14 24:46
9.3rd-down Conversion 4,10 2./10
10.4th-down Conversion 1.1 01
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NO. £ Bl [E% Yards TD fHJHK FiY
23 F B 9] 101 2 40 11
RERES 1 71 o 7] 7
21 EH R 14] 127] 2] 25] 9.1
IEEE 1l -1 o0 —1
18 LUK #FF 2| 26| o] 21] 13
25 /INEF EEE 4] 52 1] 22] 13
1 &K IKiE 2l -71 o —4
® /X
NO. A Hl El%% BIhA—+tYards TD HZK F1
IPEETS I 4] 2] of 6] o] 5] 15
18 LUK #F [ 4 3] o] 29| of 18] 7.3
23 F B s 3 of 15] of 6 3
1 Bk I&hE [ 6] 1] of 74 o] 74] 12
oL —T
NO. Z21:01 [Bl%#% Yards TD &K F1§
1958t R E 2l 9f o] 5] 45
18 LUK #F 1 1 of 1 1
8 [liE B4 4] 103[ o] 74] 26
23 F B 1 5/ of 5 5
28 BIG EHR 1l 6 of 6] 6
® XvyrFo
NO. A Hl El¥Yards 1 2 3 4 5 10
[ 15 E R T 9] 393 60] 60] 55| 61] 31]
® />
NO. A Hl El¥Yards 1 2 3 4 5 10
[ 15 ME 3Rk T3] 86 32] 16] 38 | |
QX v IAT)R—
NO. A Hl El#iYards TD 1 2 3 4 9 10
[ 18X &iE [ 1] 8o [ 8] [ T |
@ /\h)R—
NO. A Hl El#Yards TD 1 2 3 4 9 10
[ 21 W @ER T 4] 40 of 11 -1 18] 12]
@ 15—tk
NO. A Hl El#iYards TD 1 2 3 4 9 10
26 B(H 53k 1] 18] of 18
24 Bk 8 [ 1] 25] ol 25
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NO. =11} [E% Yards TD fHJHK FiY
24 il £ 5/ 9] o] 5| 1.8
OMT 10] 19] o] 12] 1.9
5 Ll s K 8] 41 of 14| 5.1
100 TEAM 2] 6] of 1] -3
20 Il =™ 2 -1 of 2| -1
® /X
NO G=1: 1] EI# I A—tYards TD &K Fiy
[ 9T H T 20] 6] 2] 69] o] 18] 35]
oL —T
NO. Z21:1 [Bl%#% Yards TD &K F1§
97 &K Kith [ 3] 371 o 18] 12
24t & 1] 18] o] 18] 18
5 Frill yE X [ 1 -1] o —1
88 fart Kith [ 1] 15/ o 15[ 15
® XvyrFo
NO. G=X:1| [E1%% Yards 1 2 3 4 10
[ 59 h8 FX [ 1] sof s0] [ |
® />
NO. G=X:1| [E1%k Yards 1 2 3 4 10
G EEES I 6] 179 28] 37] 36] 36]
QX v IAT)R—
NO. A Hl El¥Yards TD 1 2 3 9 10
OMT [ 2f 53] of 26/ 27
24/ bl = [ 3] 41] of 5[ 23] 13
59 i X [ 1] 10 of 10
54 T &= T3] o of o
@ /\h)R—
NO. A Hl El¥Yards TD 1 2 3 9 10
[ 63 I F2 [ 1 of of of |
® QBY v
NO. A Hl [E1%7 Yards 1 2 3 4 10
[ 97 &K Kih [ 1] 4 4] I




